
 
 

 
 

 
 
 
 
 
 
 

BIDS AND AWARDS COMMITTEE (BAC) 
  

SUPPLEMENTAL BID BULLETIN NO. 03 
  

Supply and Delivery of  Labor and Materials for the Construction of Distribution Lines and House Wiring Installations of Twenty-Seven (27) Sitios under the 2023 Sitio 
Electrification Program (SEP) as approved by the National Electrification Administration (NEA)  

 
ATTENTION: All prospective bidders for the project. 
  
This Supplemental Bid Bulletin No. 03 dated 04 October 2023 is being issued to further clarify, modify, or amend some items/provisions in the Terms of Reference, as amended, and 
posted on the National Electrification Administration (NEA) website relative to the above-mentioned project. Those in bold and underlined letters/words/numbers indicate the revisions 
or amendments made.  
  

 
a) The following items/provisions in the Terms of Reference, as amended, and posted on the National Electrification Administration (NEA) website, are hereby further revised or 

amended to read as follows: 
 

FROM TO 

NO. DESCRIPTION UNIT QUANTITY NO. DESCRIPTION UNIT QUANTITY 

1 Attachment, Guy, Malleable Type with 11/16” Hole Diameter pieces 357 1 Attachment, Guy, Malleable Type with 11/16” Hole Diameter pieces 357 

2 Bolt, Double Upset, 5/8” x 10” pieces 433 2 Bolt, Double Upset, 5/8” x 10” pieces 433 

3 Bolt, Machine, 5/8” x 8” pieces 1,017 3 Bolt, Machine, 5/8” x 8” pieces 1,017 

4 Bolt, Machine, 5/8” x 10” pieces 212 4 Bolt, Machine, 5/8” x 10” pieces 212 

5 Bolt, Machine, 5/8” x 12” pieces 112 5 Bolt, Machine, 5/8” x 12” pieces 112 

6 Bolt, Oval Eye, 5/8” x 9” pieces 318 6 Bolt, Oval Eye, 5/8” x 9” pieces 318 

7 Bolt, Oval Eye, 5/8” x 10” pieces 477 7 Bolt, Oval Eye, 5/8” x 10” pieces 477 



 
 

 
 

 
 
 
 
 

 

8 Bolt, Single, Upset, 5/8” x 8” pieces 330 8 Bolt, Single, Upset, 5/8” x 8” pieces 330 

9 Bolt, Single, Upset, 5/8” x 10” pieces 237 9 Bolt, Single, Upset, 5/8” x 10” pieces 237 

10 Bracket, Clevis Deadend without Spool pieces 150 10 Bracket, Clevis Deadend without Spool pieces 150 

11 Bracket, Mounting for Cutout and Arrester pieces 57 11 Bracket, Mounting for Cutout and Arrester pieces 57 

12 Clamp, Anchor Rod Bonding, Single Eye pieces 357 12 Clamp, Anchor Rod Bonding, Single Eye pieces 357 

13 Clamp, Deadend Strain, #1/0 ACSR pieces 172 13 Clamp, Deadend Strain, #1/0 ACSR pieces 172 

14 Clamp, Guy Straight, 3 Bolt, Heavy Duty Steel pieces 714 14 Clamp, Guy Straight, 3 Bolt, Heavy Duty Steel pieces 714 

15 Clamp, Hot Line, #2 - #2/0 ACSR Main to #2 - #2/0 pieces 101 15 Clamp, Hot Line, #2 - #2/0 ACSR Main to #2 - #2/0 pieces 101 

16 Clamp, Loop Deadend, #1/0 ACSR pieces 1,298 16 Clamp, Loop Deadend, #1/0 ACSR pieces 1,298 

17 
Clamp, Suspension, Aluminum Alloy Clevis, 2 Bolts, #2/0 ACSR 
(Maximum) 

pieces 2 17 
Clamp, Suspension, Aluminum Alloy Clevis, 2 Bolts, #2/0 ACSR 
(Maximum) 

pieces 2 

18 Clevis, Secondary Swinging without Spool pieces 651 18 Clevis, Secondary Swinging without Spool pieces 651 

19 Connector, Compression, YHD 300, #1/0 - #2/0 ACSR Run To #1/0 - #2/0 pieces 214 19 
Connector, Compression, YHD 300, #1/0 - #2/0 ACSR Run To #1/0 - 
#2/0 

pieces 214 

20 Connector, Compression, YHO 150, #3 - #1/0 ACSR Run To #6 - #2 pieces 1,169 20 Connector, Compression, YHO 150, #3 - #1/0 ACSR Run To #6 - #2 pieces 1,169 

21 Connector, Compression, YHO 200, #1/0 - #2/0 ACSR Run To #6 - #2 pieces 15 21 Connector, Compression, YHO 200, #1/0 - #2/0 ACSR Run To #6 - #2 pieces 15 

22 Connector, Ground Rod (Clamp) for 5//8” Steel Rod pieces 162 22 Connector, Ground Rod (Clamp) for 5//8” Steel Rod pieces 162 

23 Cutout, Fuse, Single-Shot, Polymer pieces 57 23 Cutout, Fuse, Single-Shot, Porcelain (15 kV - 100 AMP) pieces 57 

24 Insulator, Pin Type, Porcelain, ANSI, Class 55 - 5 pieces 457 24 Insulator, Pin Type, Porcelain, ANSI, Class 55 - 5 pieces 457 

25 Insulator, Spool, 1-3/4”, ANSI, Class 53 - 2 pieces 1,324 25 Insulator, Spool, 1-3/4”, ANSI, Class 53 - 2 pieces 1,324 

26 Insulator, Spool, 3”, ANSI, Class 53 - 4 pieces 477 26 Insulator, Spool, 3”, ANSI, Class 53 - 4 pieces 477 

27 Insulator, Suspension, 6”, Porcelain, Clevis Type pieces 348 27 Insulator, Suspension, 6”, Porcelain, Clevis Type pieces 348 

28 Link, Fuse, Universal, Bottom Head, Type K, 3 Amperes pieces 30 28 Link, Fuse, Universal, Bottom Head, Type K, 3 Amperes pieces 30 



 
 

 
 

 
 
 
 
 

 

29 Link, Fuse, Universal, Bottom Head, Type K, 5 Amperes pieces 27 29 Link, Fuse, Universal, Bottom Head, Type K, 5 Amperes pieces 27 

30 Log, Anchor, Wood, 8” x 4” pieces 357 30 Log, Anchor, Wood, 8” x 4” pieces 357 

31 Nut, Eye, 5/8”, Conventional pieces 124 31 Nut, Eye, 5/8”, Conventional pieces 124 

32 Nut, Lock, Mf Type, 5/8” pieces 2,980 32 Nut, Lock, Mf Type, 5/8” pieces 2,980 

33 Pin, Pole Top, Channel, 1” Thread, 25” Long pieces 457 33 Pin, Pole Top, Channel, 1” Thread, 25” Long pieces 457 

34 Rod, Anchor, Threaded, Single Eye, 5/8” x 7” pieces 357 34 Rod, Anchor, Threaded, Single Eye, 5/8” x 7” pieces 357 

35 Rod, Armor, Preformed, #1/0 ACSR, Double Support pieces 56 35 Rod, Armor, Preformed, #1/0 ACSR, Double Support sets 56 

36 Rod, Armor, Preformed, #1/0 ACSR, Single Support pieces 1,499 36 Rod, Armor, Preformed, #1/0 ACSR, Single Support sets 1,499 

37 Rod, Ground Steel, Galvanized, 5/8” x 10” pieces 162 37 Rod, Ground Steel, Galvanized, 5/8” x 10” pieces 162 

38 Rod, Tapping, Preformed, #1/0 ACSR pieces 101 38 Rod, Tapping, Preformed, #1/0 ACSR sets 101 

39 Shackle, Anchor, Forged Steel, Galvanized pieces 174 39 Shackle, Anchor, Forged Steel, Galvanized pieces 174 

40 Spacer, Pipe, 3/4” x 1-1/2” pieces 112 40 Spacer, Pipe, 3/4” x 1-1/2” pieces 112 

41 Washer, Square, Flat, 2-1//4” x 2-1/4” x 3/16”, 13/16” Diameter Hole pieces 2,928 41 Washer, Square, Flat, 2-1//4” x 2-1/4” x 3/16”, 13/16” Diameter Hole pieces 2,928 

42 Washer, Square, Flat, 4” x 4” x 1/2” with 7/8” Diameter Hole pieces 357 42 Washer, Square, Flat, 4” x 4” x 1/2” with 7/8” Diameter Hole pieces 357 

43 Wire, Grounding, Aluminum Alloy, 3 Strand, #4 AWG pieces 7,511 43 Wire, Grounding, Aluminum Alloy, 3 Strand, #4 AWG feet 7,511 

44 Wire, Guy, Steel, 3/8”, 7 Strand meters 17,850 44 Wire, Guy, Steel, 3/8”, 7 Strand feet 17,850 

45 Wire, Tape, Armor, Aluminum Alloy, 0.5” x 0.3” pieces 649 45 Wire, Tape, Armor, Aluminum Alloy, 0.5” x 0.3” feet 649 

46 Wire, Tie, Aluminum Alloy, Soft, #4 AWG meters 9,936 46 Wire, Tie, Aluminum Alloy, Soft, #4 AWG feet 9,936 

 
 

b) The following items/provisions in the Terms of Reference, as amended, and posted on the National Electrification Administration (NEA) website, are hereby further revised or 
amended to read as follows: 

 
 



 
 

 
 

 
 
 
 

 
 

 

FROM TO 

BREAKDOWN OF MATERIALS FOR HOUSEWIRING 
UNIT QTY 

BREAKDOWN OF MATERIALS FOR HOUSEWIRING 
UNIT QTY 

1 set - Circuit Breaker (15 Amps.); 2 pieces - Receptacle; 2 pieces - CFL Bulb (15W) 

    

1 set - Circuit Breaker (15 Amps.) with metal enclosure; 2 pieces - 
Receptacle;  

    

2 sets - Tumbler Switch; 1 set - Convenience Outlet (2 gang); 2 pieces - Junction Box 2 pieces – CFL/LED Bulb (7W); 2 sets - Tumbler Switch;  

(plastic with cover); 5 meters - PDX Wire #10; 10 meters - PDX Wire #12; 10 meters -  
1 set - Convenience Outlet (2 gang); 2 pieces - Junction Box (plastic 
with cover); 

PDX Wire #14; 1 roll - Electrical Tape; 30 pieces - Insulated, Staple Wire; 1 piece -  
5 meters - PDX Wire #10; 10 meters - PDX Wire #12; 10 meters - 
PDX Wire #14; 

EMT Entrance Cap, 3/4"; 1 piece - EMT LB Conduit, 3/4"; 1 length - EMT Pipe, 3/4"; 1 roll - Electrical Tape (Big); 30 pieces - Insulated, Staple Wire;  

3 pieces - EMT Elbow, 3/4"; 2 pieces -  EMT Reducer 1" x 3/4"; 5 pieces - EMT 1 piece - Entrance Cap, 3/4"; 1 length - PVC Pipe, 3/4"; 

Conector, 3/4"; 4 pieces - EMT Coupling; 6 pieces - PVC C-Clamp; 1 piece - Rod, 3 pieces - PVC Elbow, 3/4"; 3 pieces – PVC Male Adapter 3/4”; 

Ground Steel, Galvanized, 5/8" x 10' and 1 piece - Clamp, Ground Rod for 5/8" Steel 
6 pieces - PVC C-Clamp 3/4"; 1 piece - Rod, Ground Steel, 
Galvanized, 5/8" x 10'; 

Rod temper-proof  and 1 piece - Clamp, Ground Rod for 5/8" Steel Rod temper-proof 

1 set - Circuit Breaker 15 amps (1 SET) sets 693 1 set - Circuit Breaker 15 amps  (1 SET) with metal enclosure sets 693 

Receptacle (2X) pieces 1,386 Receptacle (2X) pieces 1,386 

Cfl Bulb (2X) pieces 1,386 CFL/LED Bulb (2X) pieces 1,386 

Tumbler Switch (2X) pieces 6933 Tumbler Switch (2X) pieces 1,386 

Convenience Outlet 2Gang (1 Set) pieces 693 Convenience Outlet 2Gang (1 Set) pieces 693 

Junction Box With Cover (2X) pieces 1,386 Junction Box (plastic with cover) (2X) pieces 1,386 

PDX Wire #10 (5 Meters) meters 3,465 PDX Wire #10 (5 Meters) meters 3,465 

PDX Wire #12 (10 Meters) meters 6,930 PDX Wire #12 (10 Meters) meters 6,930 

PDX Wire #14 (10 Meters) meters 6,930 PDX Wire #14 (10 Meters) meters 6,930 

Electrical Tape (1X) pieces 693 Electrical Tape - (Big Size) (1X) pieces 693 

Insulated Staple Wire (30X) pieces 20,790 Insulated Staple Wire (30X) pieces 20,790 

Elbow, 3/4" (1X) pieces 693 Entrance Cap, 3/4"(1X) pieces 693 

Emt Reducer 1"x 3/4" (2X) pieces 1,386 PVC Pipe, 3/4"(1X) pieces 693 

Emt Connector 3/4" (5X) pieces 3,465 PVC Elbow, 3/4" (3X) pieces 2,079 



 
 

 
 

 
 
 
 
 
 

Emt Coupling (4X) pieces 2,772 PVC Male Adapter 3/4" (3X) pieces 2,079 

Pvc C-Clamp (6X) pieces 4,158 Pvc C-Clamp 3/4" (6X) pieces 4,158 

Rod, Ground Steel, Galvanized, 5X8" X 10' (1X) pieces 693 Rod, Ground Steel, Galvanized, 5X8" X 10' (1X) pieces 693 

Clamp Ground Rod For 5/8" Steel Rod Tamper Proof (1X) pieces 693 Clamp Ground Rod For 5/8" Steel Rod Tamper Proof (1X) pieces 693 

 

 
 
This Supplemental Bid Bulletin No. 03 shall form part of the previously issued/posted/published Terms of Reference, as amended, relative to the above-mentioned project. Any provisions 
thereof inconsistent herewith are hereby amended, modified, and superseded accordingly. 

  
For the information and guidance of all concerned. 

  
Issued this 4th day of October 2023 in Alicia, Isabela, Philippines. 
  

  
 
 
  
 
ENGR. ROGER B. JOSE, MEE 
Chairman, Bids and Awards Committee 
 


